
COPYRIGHT © 2010 AMI ENTERTAINMENT NETWORK, INC.

ZSA10070-06 (ECS motherboard)
SB0530-01 (ECS CPU fan)
-OR-
ZSA10070-09 (ASUS motherboard)
EC9407-04 (ASUS CPU fan)

SB0539-02
(power supply)
SB0546-08
(Ion 2010.5 hard drive assembly)

SB0477-01
(touchscreen controller)

MONITOR
CONTROLS

DETAIL VIEW OF 
CONTROL BOARD

(SA10066-02)

SA3590-XX
(Wallette security key)
SA3593-XX
(Entertainer security key)

SETUP

CALIBRATE

MW0740-03
(15" LCD mounting bracket)
MW1414-01
(17" LCD mounting bracket)

MW0781-01
(hinge)

MP0091-01
(15" front bezel)

MP0115-01
(17" front bezel)

MW0780-03
(power supply bracket)

SA0470-02
(fan assembly)

EC0101-01
(dual speaker assembly)

*not shown
HW0905-02
(motherboard fish paper)
MW1375-01
(motherboard mounting plate)
KUV-110-155-01
(Ion turbo upgrade kit 256MB)
EC0053-04 (6" ribbon cable)
EC0157-01 (hard drive adapter)
EC0102-01(setup/calibrate cable)

SA0470-07
(fan assembly)

SA0470-03
(fan assembly)

SA3556-XX
(Wallette ES key)

HW8748-02
(CPU section lock)

MP0097-01
(USB enclosure)

EC0148-02
(wireless adapter)

SB0527-08
(Wallette I/O board)

SB0527-09
(Entertainer I/O board)

MW1074-02
(mounting plate)

HW0906-01
(fish paper)

HW6036-07
(standoffs)

HW3100
(hex nuts)

MP0092-01
(rear bezel)

EC2198-03
(Centronics upgrade cable)

USB PORT

PRINTER PORT

MW1017-03
(cover plate secured by

standoff inside CPU section)

* not shown
EC2179-01

(Centronics software 
upgrade cable)

ION EVO WALLETTE/MEGATOUCH ENTERTAINER WITH CPU SECTION OPEN

LEFT REAR SECTION VIEW OF THE WALLETTE/ENTERTAINER

90001013 Rev W               MEGATOUCH ION WALLETTE/ENTERTAINER ASSEMBLY                                 1



COPYRIGHT © 2010 AMI ENTERTAINMENT NETWORK, INC.

HW8727-03 (lock)
HW8757 (cam)

 
 

MP0076-01
(upper cover)

HW8159-01
(coin mech)
MW0910-05

(coin mech bracket)

MW0937-01
(lock slide riser)

SW5021-01
(coin switch)

MW0914-01
(coin box)

EC9796-04
(bill acceptor)

MW0911-01
(back of B/A bracket)

HW4206 (screws)
SA0514-01 (B/A harness)

HW4343
(screws securing B/A)

*not shown 
MW0929-01 (lock catch) 
MP0075-01 (lower cover) 
 

EC2001 
(power cord) 

CN4452-01 
(phone coupler) 

CN4451-01 
(Ethernet coupler) 

EC9304-05 
(line filter) 
SA0511-01 
(AC jumper harness) 
SW4025-02 
(on/off switch) 

MW0905-01 (back plate) 

MW0906-01  
(upper support plate) 

SA0515-01 
(ac stacker harness) 

MW0913-01 
(coin chute) 

MW0915-02 
(back plate hinge) 

MW1518-01 
(speaker terminal &  
meter bracket) 

SA0309-04 (meter) 

MW0936-01
(lower support plate)

FRONT VIEW OF THE WALLETTE/ENTERTAINER

WALLETTE/ENTERTAINER WITH CASH DOOR OPEN

90001013 Rev W               MEGATOUCH ION WALLETTE/ENTERTAINER ASSEMBLY                                 2

EC9796-04
(bill acceptor)
PM6064-05

(bill acceptor decal)

SA0477-03
(15" LCD & touchscreen)

SB0492-01
(15" LCD w/ brackets & cabling)

SB0535-01
(15" touchscreen only)

SA0603-01
(17" LCD & touchscreen)

SA0604-01
(17" LCD w/ brackets & cabling)

SB0532-01
(17" touchscreen only)

EC0148-02
(wireless adapter)

MP0097-01
(USB enclosure)

HW8727-03
(cash door lock)
HW8757
(lock cam)
*not shown
EC0093-01 (LCD cable)
EC0096-01 (28" VGA cable)
EC0097-01 (OSD cable)
EC0158-02 (USB touchscreen controller cable)
SB0016-01 (touchscreen tape kit)
SA3508-01 (player key)

MW0912-01
(bill acceptor face plate - coin only)
MW0912-02
(bill acceptor face plate - bill & coin)

HW8159-01
(coin mech)

SA0596-04
(player key socket)

LB0003-03
(12" white lamp and inverter)

GL0038-01
(clear marquee cover)

GL0072-07
(Megatouch Entertainer marquee)

GL0072-11
(Megatouch marquee - 17" Wallette)

PM08950-28
(Megatouch marquee - 15" Wallette)



MEGATOUCH WALLETTE/ENTERTAINER PARTS LIST

Item Description
CN4451-01 ETHERNET COUPLER
CN4452-01 PHONE COUPLER  
EC0053-04       6", 40-PIN, 80-CONNECTOR, ATA100 RIBBON CABLE  
EC0093-01       3" DC LCD POWER CABLE  
EC0096-01       28" VGA CABLE  
EC0097-01       21" ON-SCREEN DISPLAY CABLE
EC0101-01 DUAL SPEAKER ASSEMBLY
EC0102-01       SETUP & CALIBRATE CABLE  
EC0148-02 USB WIRELESS ADAPTER  
EC0157-01       2.5" HARD DRIVE IDE ADAPTER 
EC0158-02 26" USB TOUCHSCREEN CONTROLLER CABLE
EC2001 POWER CORD - USA  
EC2179-01 CENTRONICS SOFTWARE UPGRADE CABLE
EC9304-05 3-AMP IEC 320 LINE FILTER WITH .250 FAST-ON CONNECTORS
EC9407-04 60MM, 7.4CFM CPU FAN FOR ASUS MOTHERBOARD
EC9796-04 $1, $2 & $5 BILL ACCEPTOR WITH 300-NOTE STACKER
GL0038-01 MARQUEE PLASTIC
GL0072-07 MEGATOUCH MARQUEE FOR ENTERTAINER
GL0072-11 MEGATOUCH MARQUEE SIGN FOR 17" WALLETTE
HW0905-02 ASUS MOTHERBOARD INSULATOR (FISH PAPER)
HW0906-01 I/O BOARD INSULATOR (FISH PAPER)
HW3100 #6-32 HEXNUT FOR I/O MOUNTING PLATE STANDOFF
HW4206 6-32 x 1/4"L PAN HEAD PHILLIPS MACHINE SCREW FOR B/A BRACKET
HW4343 SEMS 6-32 x 5/8"L PAN HEAD PHILLIPS MACHINE SCREW (SECURING B/A)
HW6036-07 #6-32 x 1.25L x .25 HEX STANDOFF M<F FOR I/O MOUNTING PLATE
HW8159-01 COIN MECH
HW8727-03 KEYED DIFFERENT LOCK, 1-1/8"L BARREL WITHOUT CAM (FOR CASH DOOR)
HW8748-02 HIGH-SECURITY KEYED DIFFERENT LOCK (FOR CPU SECTION)
HW8757 BENT 90º LOCK CAM (FOR CASH DOOR)
KUV-110-155-01 KIT - ION TURBO UPGRADE 256MB
LB0003-03 12" WHITE LAMP
MP0075-01 LOWER COVER
MP0076-01 UPPER COVER
MP0091-01 15" FRONT BEZEL
MP0092-01 SILVER VIDEO MODULE REAR BEZEL
MP0097-01 SILVER VIDEO MODULE USB WIRELESS ENCLOSURE
MP0115-01 17" SILVER VIDEO MODULE FRONT BEZEL
MW0740-03 15" LCD MOUNTING BRACKETS
MW0780-03 POWER SUPPLY BRACKET
MW0781-01 HINGE
MW0905-01 BACK PLATE
MW0906-01 UPPER SUPPORT PLATE
MW0910-05 COIN MECH BRACKET
MW0911-01 BACK OF B/A BRACKET
MW0912-01 BILL ACCEPTOR FACEPLATE (COIN ONLY)
MW0912-02 BILL ACCEPTOR FACEPLATE (B/A & COIN)
MW0913-01 COIN CHUTE
MW0914-01 COIN BOX
MW0915-02 BACK PLATE HINGE
MW0929-01 LOCK CATCH
MW0936-01 LOWER SUPPORT PLATE
MW0937-01 LOCK SLIDE RISER
MW1017-03 EXTERNAL COVER PLATE
MW1074-02 I/O MOUNTING PLATE
MW1375-01 MOTHERBOARD MOUNTING PLATE
MW1414-01 17" LCD MOUNTING BRACKET
MW1518-01 SPEAKER TERMINAL BLOCK & METER MOUNTING BRACKET
PM6064-05       $1, $2 & $5 BILL ACCEPTOR DECAL FOR THE USA                                                                                                              
PM8950-28 MEGATOUCH MARQUEE SIGN FOR 15" WALLETTES
SA0309-04 METER
SA0470-01 52mm FAN ASSEMBLY (BELOW HARD DRIVE)
SA0470-03 50mm FAN ASSEMBLY (BEHIND POWER SUPPLY)
SA0470-07 50mm FAN ASSEMBLY (ABOVE MOTHERBOARD)
SA0477-03 15" LCD & TOUCHSCREEN

90001013 Rev W Item availibility and price are subject to change without notice



MEGATOUCH WALLETTE/ENTERTAINER PARTS LIST

Item Description
SA0511-01 AC JUMPER CABLE
SA0514-01 B/A HARNESS
SA0515-01 AC STACKER HARNESS
SA0596-04 KEY READER (PLAYER KEY SOCKET) ASSEMBLY
SA0603-01 17" LCD & TOUCHSCREEN
SA0604-01 17" LCD W/BRACKETS & CABLING
SA10066-02 OSD SMART PANEL (MONITOR CONTROL BOARD)
SA3508-01 PLAYER KEY
SA3556-XX WALLETTE ES KEY
SA3590-XX ION 2010 SECURITY KEY  
SA3593-XX ENTERTAINER 2010 SECURITY KEY
SB0016-01 KIT TOUCHSCREEN TAPE
SB0477-01 USB TOUCHSCREEN CONTROLLER
SB0492-01 15" LCD WITH BRACKETS AND CABLING
SB0527-08 WALLETTE I/O BOARD
SB0527-09 ENTERTAINER I/O BOARD
SB0530-01 KIT CPU FAN ASSEMBLY FOR ECS MOTHERBOARD
SB0532-01 17" TOUCHSCREEN
SB0535-01 KIT 15" TOUCHSCREEN W/ TAPE
SB0539-02 KIT ION 300W POWER SUPPLY
SB0546-08 2.5" ION 2010.5 HARD DRIVE PROGRAM ASSEMBLY  
SW4025-02 POWER SWITCH
SW5021-01 COIN SWITCH
ZSA10070-06 ION ECS MOTHERBOARD
ZSA10070-09 ION ASUS MOTHERBOARD

90001013 Rev W Item availibility and price are subject to change without notice


